&=t fawa @ smnfRa (01-15)
qgfamedta Uit & I GifSg

Q1. '37TEl FT ART EFI &1 ITGH 3714 &

(a) 3itat & arft 3T (b) S o e
(c) sfmdmr  (d) @R @
Q2. 3[E ¥V Bifey

(a) = (b) @& (c) 74 (d) T4
Q3. '3fE F IR 3= 9% Bl Fed &
(a) 3ndi=d (b) 3m@tared (c) ¥9H (d) B8
Q4. Fm A #ia fy vy 71 82
(a) FRE (b) F99E (c) I (d) Fieiw
Q5. ‘7€ daa Tel qaT FI I ¢
(a) faferama® (b) TS (c) HFHaamas (d) ATEEE
Q6. ‘Hfemr It ¥ araa § Pt fowar 32
(a) 9@ (b) Bi® () 3@ (d) 9FRE
Q7. '9ar | v iRy a1 # Yt o § BRE ¢
(a) Tt (b) T (c) F4 (d) 39EE
Q8. ‘T %1 yaigar o &
(a) 3= (b) 3RT () ¥ (d) 31&R
Q9. ‘It &1 faeim oreg &
(a) wa= (b) wifd (c) faufa (d) 3weies & & #1781
10. fam & A #a-w are g 22
(a) 3R & A% vl 21 (b) TR F FH AT B
(c) R & i am g1 (d) TR & 3 am £
fager (7. 9. 1-15) Rw 1¢ g8 #t vegds ufew st 3ot
grafara usi & I 4|

Zor st s1ifd & Ieuma # foram wgen Wi €1 f@ar foren &
o1 1 ot e Tra=it 39fa & T ¢ 3k 7 sftaifie | dafas
forem @1 snima AR sftaifie fuetua & 9= FRT R FR
TER-FIG B AGTe® AT FT 371G TgaT 8, TA@T 397
IR wva & srrmed ved 81 foran & faan v a9a unrfsie
anfaepret &Y +ft 7T T B2 TPar 3R T 3u AT B
TRfera v wear g1 foren & faem vea-wea & ww ot S g
3% |EHAT| qgd | TA AP A Ua 1 FguanT feran & spma &
BT el B Fhbd |
Q. o1 3fkz wiifa & Feura & fore W RO 3

(a) it 3afd (b) FW wa=it 3afq

(c) feram (d) Herfas 7=

Q12. sftaifiie fTedua &1 3« FwoT 8-

(a) Fenfees ferem (b) denfaw ferem &1 spma
(c) feram (d) 396 | | FIg TEl

Q13. 39 T BT qefard ¥ Wl &-
(a) 7152 (b) I P (c) fefara =t (d) Fm =i
Q14. ‘T &1 e oreg ghm-

fave fogor darg  wer & wiaaifiar aw
TATER q91gd faaTerd uaer wWie Ham- 9 ’ige 9R- 06

st fawg w smnfRa (16-30)
Tgfaweda Tt & I g

Read the following comprehension and answer the
following questions carefully.(Q 16to19)

Over the past 50 years, doctors around the world
have adopted the practice of prescribing antibiotics at
the first sign of a minor infection or treating patients
with a handful of antibiotics. Nowadays it is not
unusual that practitioners are prescribing multiple
antibiotics without any real indication or relevance for
such drug combinations.

Antibiotics have traditionally been known as miracle
drugs, but there is growing evidence that they are
overworked miracles, especially in countries like ours
where there is easy access to over-the-counter drugs
including antibiotics. We can’t imagine going back to
the pre-antibiotic days. Yet the unbridled use of these
agents is driving us in that direction.

Q 16. How long has the practice of prescribing
antibiotics at the first sign of a minor infection been
in use?

(A) The past 10 years (B) The past 20 years

(C) The past 30 years (D) The past 50 years

Q 17. What is the common practice of practitioners
prescribing antibiotics?

(A) Prescribing multiple antibiotics without any real
indication or relevance for such drug combinations
(B) Prescribing antibiotics only when necessary

(C) Prescribing single antibiotics for minor infections
(D) Not prescribing antibiotics at all

Q 18. How have antibiotics traditionally been known?
(A) As miracle drugs

(B) As dangerous drugs

(C) As unnecessary drugs

(D) As over-the-counter drugs

Q 19. What is the concern about the unbridled use of
antibiotics?

(A) It is driving us back to the pre-antibiotic days.
(B) It is not causing any concern.

(C) It is making antibiotics more effective.

(D) It is not making antibiotics.

Note:- Select the suitable option for the following
questions.

Q20. Nancy said, ‘| may leave tomorrow.”

(a) faufi (b) Wuf¥ (c) fwm (d) Faor (A) Nancy said that she might leave the next day.
Q15. fareim ¥ apiia # a7 Wi 98 diar? (B) Nancy said that she might leave tomorrow.
(a) Y= FTHGTET (b) e P GETAHT (C) Nancy asked if she should leave the next day.
\(c) ATEAFET (d) T A PE T ]\ (D) Nancy informed me to leave tomorrow. 4
\ '/




Q 21. The guard asked, “Who are you?”

(A) The guard asked who he was.

(B) The guard asked me who he was.

(C) The guard asks me who he was.

(D) The guard asked who | was.

Q 22. He said, ‘Bring a cup of tea, please.”

(A) He commands me to bring a cupof tea.

(B) He requested me to bring a cup of tea.

(C) He asked me to brought a cup of tea.

(D) He ordered me to bring him a cup of tea.

Q 23. Goa is the state in India.

(A) small (B) smaller (C) smallest (D) smaler

Q 24. The cow is than any other animal.
(A) More useful (B) Most useful

(C) Useful (D) Most usefully

Q 25. This math problem is not as the
earlier one.

(A) Easy (B) As easy (C) Easiest (D) As easier

Q 26. Mr. Das is than Mr. Dixit.

(A) Older (B) As old as (C) As oldest (D) Oldest
Q27. Mohan's sister accused him cheating.
(A) To (B) Of (C) With (D) Up

Q28.Manoj is very good ___ telling jokes.

(A) With (B) About (C) Of (D) At

Q29.These dresses were sale last week.
(A) On (B) For (C) In (D) Of
Q 30. This is the bridge the river.

(A) Over (B) Under (C) Across (D) By
wifor fawa w smnfa (31-65)
qgfadeda Uet & I Sifeg

Q.31 3100 # & Fi= Tt Bt | Bt T uerg A fF o a4t
AT 17 | yoiaar fs &7

(A) 6 (B)8(C)1(D)19

Q.32 278546083 H ZHI8 & TG HIA1 # 3iaw Uar Hifed |
(A) 4 (B) 799912 (C) 7999920 (D) 7999820

Q.33 (247x247%247 - 137X137X137)/(247%247 +
247X137 +137X137) = ?

(A) 10 (B) 384 (C) 220 (D) 767

Q.34 21 HEATE BT A.H. 1920 F4TH.9. 16 1 A g A v
TAT 128 2, 7t ZEr WA F g

(A) 120 (B) 240 (C) 360 (D) 480

Q.35 v(9.5%0.0085%18.9)/v(0.0017%1.9%2.1) =?

(A) 0.15 (B) 0.5 (C) 15 (D) 250

Q.36 3600 Fi fH BIET & BIE W1 H 90T 29 WX AP UF
quf &= gem?

X

fave fror darg ver & wiagiia as
TATER q91gd faaTad WA URie Hair- 9 "isd 4wR- 06

A) 9 (8) 50 (C) 300 (D) 450 "/2\: (A) 8 ()13 (C) 19 (D) 31
i

Q.37 (31)¥ x (31)A-27 =7

(A) 9612 (B) 5512 (C) 7712 (D) 9522

Q.38 UF Al U= AHE 319 BT 12% T9d Hea & | 43 IqST
wfe® @4 19360 &, dt Iud T g aef-

(A) 20000 (B) 22000 (C) 25000 (D) 27000

Q.39 Tt avq & @ # 20% 3@ &+ 92 39 avg P WU fbaet
ufdera &0 $ Aie fas ad 9 982

(A) 16% (B) 16%% (C) 16%% (D) 18%

Q.40 Tt W il 39& @1 &1 4P 240 ¥ 98 HET B-
(A)12 (B) 14 (C) 15 (D) 16

Q.41 (x2 +1/x?) =102&d (x-1/x) = ?

(A) 8(B)10 (C)12(D)13

Q.42 71 Tt TS AB 74T CD WeR fdg O W et £, afg
HTAOC = 50° A a HTBOC = 2

C

]
A

(A) 40° (B) 50° (C)140° (D) 130°

Q.43 6,1,3,4, 3,7, 3, 74 9gA® AT BRI?
(A)1(B)6(C)3 (D)7

Q.44 3wt sgpfa # v g &1 $g O & au1 Fnfst ABC ©&
TfgaTg (st 81 7@ ggd #1v1 BOC %1 314 €hm-

(A) 240° (B)120° (C) 36° (D) 130°

Q.45 A UE & BT 12 &7 & 9w &% waar €1 A 741 B fieiaw
2 8 o F 5o 7 wd €1 B el o9 1 F faa o |
THIH T Al 87

(A) 18 % (B) 12 %= (C) 24 Za (D) 30 =

Q.46 uE fAwTeet 1386 it ufd ver Hr a1e | geielt 81 v
Hbz # ag fdadt gt g Hoi?

(A) 305 #t (B) 385 #t (C) 372 %t (D) 325 t

Q. 47 v fuar &t 31rg 39F Y F adHE g | FE1 81 A g
®Y 31 20 79 2, 7t fad af wge foar & sng g3 1 g A =
T 24t

(A) 8a¥ (B) 1034 (C) 123 (D) 15 a4

Q. 48 i siwi B Waw 93 wigfas Hwar feat | gudh gdadi a
Iygadt HwAr ot grit-

(A) 100, 99, 101 (B) 999, 998, 1000

(€) 100, 101, 99 (D) FiE F&

Q. 4914 - [12- {9- (7- (6-2))}]) =1 7= Em-




Q.50 it 317 # el &Y TwAT 6xy + Sy? - 82 &, Afgwmsit #
TTAT 2x +yx -2y &1 TATZA GUT BT AT Afgemnsit H T &
fepaet sifers 22

(A) Sy>+2y+8z+5xy (B) Sxy+2x+2y-82+5y?

(C) Sy2+5xy-8z-2x+2y (D) HIg &l

Q.5170° & FIfCqRs T HHRE HI0T &hl-

(A) 20°,110° (B) 50°,80° (C) 70°,100° (D) 90°,
180°

Q.52 = 5 ®ivr QRS faaar grm, s1afE PQ||RS

b 8

30
: 0

(A) 70° (B) 60° (C) 40° (D) 30°
Q.53 21 % 39AdE T ATAdH] BN HEAT 2T~
(A)1,3,7,21(4) (B)1,3,5,7(5)
(C) 2,4,6,8,14 (5) (D) 1,3,9,16 (4)
Q.54 3y &faat 5 wwer: 72 wiee a4T 116 #iee g *RT 81 91 |
Tér unfar &1 ade qared e et il & gu @ qur-gqer A
T HH-
(A)9(B)12(C) 2 (D) 4
Q.55 U% GHMEGR & U 40 3A13H %19 & 9 41 25 Fq faw
TG P ufderd &9 fad-
(A) 67% (B) 39% (C) 62.5% (D) 80%
Q.56 U fHa® & 3BT § 2ot A1 BI Wifddwar gril-
(A)1/2(B)1/4 (C)2/3 (D) 3/2
Q.57 UF AAATHR Tahl B UTRAT 1848 Hizws a7 30 A 14
wiee & &1 P TS AT Hiford-
(A) 15712z (B) 8 #izz (C) 12 #iez (D) 21 #iew
Q.58 1000 I y=RIfer 9% 5% AT 22 & 2 99 & wwgfg A=
qAT HATTVT AT T 3R ETT-
(A) 2.00 (B) 2.50 (C) 3.00 (D) 3.50
Q.59 U YerTEr it 54 fdt/wer Fr ufa & 9w w8 v
90¥Iz 1 Wewr F fbad debe H IR F whit?
(A) 9|3z (B) 13 %2 (C) 17 9%z (D) 6 Hd2
Q.60 TE F4 15 3fvd 20 o & qur awvedt €1 a8t &1 5 sfted
foraa fom & qr e
(A) 30 & (B) 45 % (C) 60 & (D) 80 o=
Q.61 (34)% x (34)A-53=72
(A) 102 (B) 1156 (C) 170504 (D) 39304
Q.62 afg 1 3rife 2005 Fi JFHAR AT a1 7E 2005 HI BT AT
fea gem?
(A) gFar (B) afdar (C) aar (D) Wiar
Q. 63 3T I Werar | Farsit & i F faarff & gast sfas

s T o 82
20

~ A
c 1]

\(A) A (B) B (€) C (D) D

Y

e

L

Vs

fave fror Ha werg & wfaaifiar s
HATER q4915d faaTerd waer wWhe wa- 9 Hisd 9w- 06

3

Q.64 T Th TP & WH[E F01T BT 1T 2l -

(A) 180° (B) 360° (C) 90° (D) HIE &l

Q.65 U faamff & 7236

B 56 & RIT9 TR 65 F IO F= 3311 39F IR T I A
fepeaT sifers 2o -

(A) 65,124 (B) 65,125 (C) 65,126 (D) 65,127

faam fawa o smaRa (66-100)

agfmeda st & 3w T

Q.66 g 3aTE (National Parks) FgTd &

(A) T=7 STaT BT FRFETA SATaTT ITTS FA B Frorar
(B) @ FamEt # fadt +ft weR &1 Aiada gwasT B =
(C) A wrgfam ard #a &

(D) IuE |t

Q.67 R § UgeAT 919 3ARYY ¢

(A) 59 e Feraa urds

(B) AFTTHTR - fteTH AT 3R

(C) drirar giadt zrer R’

(D) 3t zrgr R

Q.68 "gwre" &1 377 &

(A) uTE BT 3Tl (B) g &1 g3

(C) ura 7 3 3t H1 Y31 (D) Heil BT F3 e
Q.69 Wit STeTel | argHse # 7oAa: few i Framnag
STt &

(A) FTd= 5T sifawgs (B) HT

(C) #d= zrgsiiaarze (D) =i & Aot

Q.70 “Ra # P b W 3a= &

(A) 106 (B) 206 (C) 306 (D) =r 90

Q.71 A § WA T AT 3PIRG ¢

(A) o Fide deme ud

(B) FAPTAHPR -4t aTe 3naRvg

(C) ariife zrr ferd

(D) dRivran Ziadt zigR e

Q.72 fayd T & fad veR AA &

(A) Fae g urt (B) ZH s ywR
(C) e urT 7 yamadt Rt gt (D) Fae TATEdl uRT
Q.73 z/ AT | WTH URT &Il &

(A) g urr (8) yeTadt uRT
(C) 2 urt a wamadi uRT T (D) IR J F HIs A8
Q.74 ZiaE A= ¥

(A) fwer sriaf® wfawu FHEar e |

(B) THHI GHART I & THd ¢

(C) Fum IwEm g g A Fwa ¢ |

(D) foerd 3ueies ot aor 2t |

Q.75 ufaRy &1 7S &

(A) 5+ (B) &R (C) diee (D) 37

Q.76 UFHRI F fHworag | et § a3 T

(A) sfie@ Fr iR qedt e (B) sifieia | g wedl
N (C) smfafdavedts (D) Iuers H & HIE AR
Z




&
Q.77 UzH AR AT 3
(A) Human Immuno Virus
(B) Human Immunodeficiency Virus
(C) Human papiloma Virus
(D) HIV sftaro
Q.78 3T BT ITHR, TA% T[B} P waTE Ig14 § WedF 2T ¢
(A) snfasa (B) ufdeia (C) wgeiafaa (D) fFafea
Q.79 YATaRYT & g4 aTet YRadal & |y Iie 39a AagR Fi
wwfea Fvd &
(A) ©sTres & gRT (B) B0 & BRI
(C)@ifiwigrr (D) Sger, FwieH 9
Q.80 e & arad &
(A) T& =t (B) u& sfafe orfe
(C) fa=dt 31 &1 1 &t (D) uas sifafies 31 &1 g
Q.81 AT & Ea BRI W 3 4 a1l [TBR &
(A) Rmenfirar (B) fEwfaar (C) =it (D) Rwziftar
Q.82 T pirer fafer 1wt fama smar &
(A) TegaaR =mr & fog
(B) fafzai #t 3z@ & fog
(C) wfestdi & wrra aret H1et H T8 Hea |
(D) Si=ai ®t *F1a #
Q. 83 st gt 3ug At &
(A) I F At & fog
(8) wag #r adt & fag
(C) e # et & ferg
(D) HU, FAE, Ut Wt & et & forg
Q. 84 YeaT W FaT ufdfda T #
(A) 3721 9 FRafa (B) Ioel T TRt
(C) wuT 3 aRafa® (D) Hut 7 st
Q.85 WaIel & Iqadd & foiC 3rmaeq® §
(A) 21 =meaH (B) &aet O |reAH (C) &1 (D) St
Q.86 T HT UHTT 98 ST &
(A) 519 HUF T BT &G HH el 8
(B) 5@ HUE T FT &G IUE 2iar &
(C) HUF ac & & TGcl BT W1 el g2al
(D) &aet 9fenToT &1 UHTT 9 UR AT &
Q.87 faiaw & o HT I &
(A)V=W/Q (B) V=WxQ (C)V=Q/W (D) V=R/I
Q.88 3rHizT q dieeHier B B YT 3TuTid &
(A) TR
(B) faya urT & g wEa T°
(C) faya urr & ywmafas wE W
() fagir we
Q.89 Feit IaEH &
(A) F=tt T gt
(8) =i a=a
(C) F=it zar gl &1 IuahT
(D) I W+t

fave frgor WAy et & wiaaifiar o
Y/  SaTeR 9aied faarera uder wien Ha- 9 "igd 9w- 06

\_ 4) J

Q.90 uziti® Ruges # aifwdrg fawsa & uftear &t Fdfia
FATE

(A) @R (B) =gz (C) Free (D) Ffam

Q.91 & & YT A AATZ &

(A) 9t (B) ¥ 29 (C) wawifer® (D) CEifers
Q.92 SR W11 & oG avil # 21l &

(A) ST T1fast st (B) 319w ifast St

(C) 31w F@ifest 31t () st a feifa 2iai 3estt
Q.93 Yad Tt IAA el &

(A) &1 % 3ufR@ & (B) zar & faefier &9 &

(C) zar & @R 83 & (D) s Wit fifaat &

Q.94 Tt & & BT Saet arg gied Y goral § all &
(A) #fa® (B) &9 (C) a&R (D) IWNE | HIs T8l
Q.95 Tt wgrd & gz & fow amaeas &

(A) zrerugrd

(B) a4 P gg4 419 7% UgATA & fIQ 31aeaF HoT
(C) sifadtsia

(D) 39 F+t

Q.96 I, Ui i it g & urE Fi g Fe 3t
(A) CO (B) CO2 (C) Ca(OH)2 (D) 02

Q.97 Wi & U 714 dTett Gerdtsit ey & i 2t &

(A) sTeEt A (B) WA H

(C) e e B (D) s dgifera e
Q.98 e i #H Eidt &

(A) CH4 + CO (B) CH4 + CO2 (C) H2 + CO (D) Faet
CH4

Q.99 T3 # | wrfas difie a8 2

(A) 9t (B) gRar (C) e (D) FEiae

Q.100 P Y @gMET § g fIweie 21 &1 HRT 2t &
(A) 7 (B) e

(C) %= g arg &1 fasyor (D) wfafeea i




fave fgor darg  wers & wfaaifiar 7w
&, AT FAIGd e waer uHe Ha- 9 Hige TW- 06

StieHleAl

18 21C 418 61D 81A
2 A 22 B 42 D 62C 828
3B 23 C 43 C 638 83D
4C 24 A 449 A 64 A 84 A
5D 258 45 C 65 A 85A
6C 26 A 46 B 66D 86 A
7D 27 B 47 B 67 A 87 A
88 28 D 48 B 68 C 88 B
9A 29 A 49 A 69 C 89D
10D 30C S0C 0 A 90 A
Nnc 31 A STA 18 91D
128 32 C 52D 2g 928
13C 33A S3 A (3 A 93B
14C 348 54D 74D 94 A
15A 35.6 55C (5D 95D
16D 36 D S6 A (G A 96 B
17 A 37 A 57 C 7B 97 C
18 A 38 8B 58 B 8D 98 B
19C 398 59D 98 99 D
20 C 40 C 60 C 80 B 100 C




